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QUESTION 1
An administrator is troubleshooting VolP quality issues that occur when calling external phone numbers The SD-WAN
interface on the edge FortiGate is configured with the default settings, and is using two upstream links One link has

random jitter and latency issues and is based on a wireless connection

Which two actions must the administrator apply simultaneously on the edge FortiGate to improve VolP quality using
SD_WAN rules?

A. Select the corresponding SD-WAN balancing strategy in the SD-WAN rule.
B. Choose the suitable interface based on the interface cost and weight.

C. Use the performance SLA targets to detect latency and jitter instantly.

D. Place the troublesome link at the top of the interface preference list.

E. Configure an SD-WAN rule to load balance all traffic without VolP.

Correct Answer: AC

QUESTION 2

Refer to the exhibit.

#¢ get router info routing-table all

B 10.0.2.0/24 [200/0) wvia 10.201.1.2 [3] (recursive wvia VENO tunnel 100.64.1
[200/0]) via 10.202.1.2 [3] (recursive via VPNl tunnel 100.64.1
[200/0] wia 10.203.1.1 [3] (recursive via VPNZ tunnel 172.16.1

The device exchanges routes using IBGP.

Which two statements are correct about the IBGP configuration and routing information on the device? (Choose two.)
A. Each BGP route is three hops away from the destination.

B. ibgp-multipath is disabled.

C. additional-path is enabled.

D. You can run the get router info routing-table database command to display the additional paths.

Correct Answer: CD

QUESTION 3

Refer to exhibits.
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Exhibit A Exhibit B
i
config system global
set snat-route-change enable
end

Exhibit A Exhibit B

& nnected, S
0 - OSPF, 'F inter area
N1 ISSA external type 1, N2 =
a1 i
T = E8=F5., Kl — TS-T5
* — candidate default

Routing table for VRF=0

[1/0]
[10/0]

Exhibit A shows the source NAT global setting and exhibit B shows the routing table on FortiGate.

Based on the exhibits, which two statements about increasing the port2 interface priority to 20 are true? (Choose two.)
A. All the existing sessions that do not use SNAT will be flushed and routed through port1.

B. All the existing sessions will continue to use port2, and new sessions will use port1l.

C. All the existing sessions using SNAT will be flushed and routed through port1.

D. All the existing sessions will be blocked from using portl and port2.

Correct Answer: AC

QUESTION 4

Refer to the exhibit.
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config system sdwan
set status enable
set load-balance source-dest-ip-based
config zone
edit "virtual-wan-link"
next
edit "SASE"
next
edit "underlay"”
next
end
config members
edit 1
set interface "portl"”
set zone "underlay"”
set gateway 192.2.0.2
next
edit 2
set interface "port2"®
set zone "underlay"”
set gateway 192.2.0.10
next
end
end

Which algorithm does SD-WAN use to distribute traffic that does not match any of the SD- WAN rules?
A. All traffic from a source IP to a destination IP is sent to the same interface.

B. All traffic from a source IP is sent to the same interface.

C. All traffic from a source IP is sent to the most used interface.

D. All traffic from a source IP to a destination IP is sent to the least used interface.

Correct Answer: A

QUESTION 5
Which CLI command do you use to perform real-time troubleshooting for ADVPN negotiation?
A. diagnose sys virtual-wan-link service

B. get router info routing-table
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C. diagnose debug application ike
D. get ipsec tunnel list

Correct Answer: C
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